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100

% %
81 81 47 . 47 .
27 108 15. 6 3.
22 130 12. 7 4.
16 146 9. 4 85.
9 155 5.3 91.
3 158 1.8 92.
12 170 7.1 100
170 100
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N

50-100 6-10
100-25)0 10-20
250 10-20




512 574 559 547 608 571 614 560 603 537

510 610 526 544 533 579 546 596 565 579

552 552 581 515 600 633 530 563 605 545

560 560 542 555 574 516 564 595 555 573

588 580 548 564 532 595 540 529 583 545

544 544 618 582 581 556 578 614 535 592

593 593 571 583 528 606 592 564 559 562

621 621 531 595 564 582 507 623 573 580

561 561 594 636 547 634 532 550 585 597

556 556 641 614 541 568 602 572 585 554

‘ =641 =507 =134 kwh/T
1 500-5 F 5 507.5 3
2 515-530 522.5 5
3 530-545 537.5 14
4 545-560 552.5 16
5 560-5 % 5 567.5 19
6 575-590 582.5 15
7 590-605 597.5 13
8 605-620 612.5 9
9 620-635 627.5 4
10 635-650 642.5 2
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S(07.5 522.5 537.5 3525 SAT.S 3825 3975 6125 6275 6425

N=100

6 30

8 6

8 6
8 6

X=575

41

S45.

(n)

(R

)

( X)



(LCL

CL=X

CL=X A2R

X)

CL=XA2R
CL=R
UCL=D4R

LCI

D3R

( R)

n A2 D4 D3

2 1.88 3.27 -

3 1.02 2.57 -

4 0.73 2.28 -

5 0.58 2.11 -

6 0. 48 2.00 -

7 0. 42 1.92 0.08
X- R
X R
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